
min  730mm
 max 1180mm 

60kg(132lbs)
 



please contact our 
online after-sale service for help.

please contact our 
online after-sale service for help.

設置や組立を始める前に、すベての取扱説明書をご一読ください。取扱説明書または警告に関してご不明な点がございましたら、オンライ
ンのアフターサービスでご連絡ください。

ある



B11(X1)

B12(X5) B13(X1) B14(X1) B15(X1)

B5(X2) B6(X2)

B3(X1)

B4(X1)

B10(X1)

B7(X1)

B8(X1) B9(X1)

hx2gx1

M5

ax6

M6X10

cx8

M6X35

bx4

M8X16

dx21

PWA4.2X13

ex4 fx8

M6X14

B16(X2) B17(X4) B19(X4) B20(X1) B21(X1)B18(X4)



B1

B2

B7

ax4
g(M5)



g(M5)

B6

bx4



B5

B5

cx8

g(M5)



B3

B4

ex4

dx10

B12



dx8

B4
B7

Please pay attention to install the two motor fixing holes on B7 
on the side with reserved holes on the B4 table board, because 
this will facilitate the installation of the hand controller later.

B2

7



B8

B8

Please pay attention to inserting the B8 
transmission rod into the B1 leg, and it 
can be slightly extended to facilitate the 
subsequent installation of the B9 
transmission rod.

B1

B1

6

8



9

1

2

Insert the Motor (B10) into the Drive Rod (B9) 

UNTIL THE PROTRUSION IS STUCK.

B9 B10

Insert the Drive Rod (B9) into the Leg (B2) 

UNTIL THE PROTRUSION IS STUCK.

B9

B2

B9

7



8

g(M5)

ax2
B10

Turn the motor plastic housing(B10) 
slightly clockwise, align the holes 
on the housing with the reserved holes 
on the crossbar, and then secure it 
with 2 screws (a).

10



11

9

Make sure B1 and B2 Leg are the same height
If not ,please insert the B8 Drive Rod into the B1 leg,
then rotate the B8 Drive Rod to make B1=B2.

B2

B1

B8

1 2 3



dx2

B11

12



11

13

B13



hx2

1 2 3

12

14

hx2



B14

13

15

B20

B21

dx1



14

B19

16

B18

B17

B18

fx4

g(M5)

B16

B17



15

17

If the left side doesn’t go up/down when using the desk,go back 
to step 6-9.Make sure the drive rod is installed correctly.

B15



18



19



20



21


	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18
	页 19
	页 20
	页 21
	页 22

